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Best 20 answers out of 25 will count.

Example: 14 correct answers yield a grade of 70/100, while 20 and 23 correct answers yield a (full) grade of 100/100 each.
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Questions might appear in a different order in the actual exam.
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o I m Q h o ro t / . Find the area between two cunne-s using difin'rte integmtiﬂns (5-10) w14
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o I m Q h o ro t / . Find the area between two cunne-s using difin'rte integmtiﬂns (5-10) w14
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Compute the area of a region using definite i ration with y as a variable
Qa I ma h arat 2 P g g ntes (19,20,22,24) a14
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Compute the area of a region using definite i ration with y as a variable
Qa I ma h arat 2 P g g ntes (19,20,22,24) a14
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PRIVATE SCHOOL : Compute volume by means of definite integration using areas of cross sections (1-4)
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1. Alx)=x4+2-1<x<3

2. A(x) = 10e*"*,0 < x < 10

3. A =nald-x)7*0<x<2
4, Alx)=2x+1)%1<x <4
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Find the volume of a solid of revolution using the method of disks (17a,19a,25a+b) 430
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Find the volume of a solid of revolution using the method of disks (17a,19a,25a+b) 430
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Find the volume of a solid of revolution using the method of disks (17a,19a,25a+b) 430
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Find the volume of a solid of revolution using the method of disks (17a,19a,25a+b) 430
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Find the volume of a solid of revolution using the method of disks (17a,19a,25a+b) 430
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PRIVATE SCHOOL : Find the volume of a solid of revolution by using the method of washers (17b,18,19b,20,25c+d +e+f) 430
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PRIVATE SCHOOL : Find the volume of a solid of revolution by using the method of washers (17b,18,19b,20,25c+d+e+f) 430
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PRIVATE SCHOOL : Find the volume of a solid of revolution by using the method of washers (17b,18,19b,20,25c+d+e+f) 430
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PRIVATE SCHOOL : Find the volume of a solid of revolution by using the method of washers (17b,18,19b,20,25c+d +e+f) 430
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PRIVATE SCHOOL : Find the volume of a solid of revolution by using the method of washers (17b,18,19b,20,25c+d +e+f) 430
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Find the volume of a solid of revolution by using the method of washers
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PRIVATE SCHOOL : Find the volume of a solid of revolution by using the method of washers (17b,18,19b,20,25c+d +e+f) 430
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Find the volume of a solid of revolution by using the method of cylindrical shells

(1,2) Mot writing exercises

(3-8)
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Find the volume of a solid of revolution by using the method of cylindrical shells

(1,2) Mot writing exercises

(3-8)
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Find the volume of a solid of revolution by using the method of cylindrical shells

(1,2) Mot writing exercises

(3-8)
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Find the volume of a solid of revolution by using the method of cylindrical shells

(1,2) Mot writing exercises

(3-8)
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Find the volume of a solid of revolution by using the method of cylindrical shells

(1,2) Mot writing exercises

(3-8)
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PRIVATE SCHOOL L ; Find arc length in a given interval using definite integration (5-10) 36

dbL".)" 0|)| I awsao § Sgdonall JaBT pluchiods Sllans 5AH § Slans A3 gowis sl Jplo slow]
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PRIVATE SCHOOL L ; Find arc length in a given interval using definite integration (5-10) 36
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PRIVATE SCHOOL L ; Find arc length in a given interval using definite integration (5-10) 36
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PRIVATE SCHOOL Find surface area of a solid of revolution using definite integration

aplall Oblaall awsao # Spckomall ol plaALly Slinns 535 pplas padions Jgor isns Ailaia Ol 6 g pelaadl dlus (ol (29-36) “r

yo o) pdaad) dsluyd JolSu) as 29—36 (4, ledl LB
gsae e alasuiul JelS) G3ds o))

X semedl Jom Lislyen @ 0 <x <1 oy =2 .29

X seel) Jo> Lgslyen @3 0 < x < 1 oy = sinx .30

x sead) Jo Lslyen @ D < ¥ <2y =2x—x* .31
X se=el) Js> Lihyss @ =2 <x <0y =2 —4x .32
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Find surface area of a solid of revolution using definite integration
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(29-36) 847
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Solve physical problems involving velocity

(1-4) 455

Y'(0) 5 y(0) Zllacy¥) doy i) sis T—4 g yled) S8
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100 ft glis,) e poas dazo) .2
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Aft/s
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o I m Q h o rot Solve problems on projectiles | ]
b 11 17-23 456
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Solve problems on projectiles
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o I m Q h o rot Solve problems on projectiles | ]
b 11 17-23 456
PRIVATE SCHOOL ' Sghiall 8y o dedorkal s J>
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PRIVATE SCHOOL 12

Compute integrals using direct computation and rules

ol plasincts Bliles diay 3 gida Jlgs SMaT 2lon)

(3-10) 489

ablall obladll awsao §

3. /; dx,a >0
A g2 =2

5. /sinﬁf dl
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o I m Q h o rat P Compute integrals using direct computation and rules

PRIVATE SCHOOL 12 — (3-10) 489
ol plasincts Bliles diay 3 gida Jlgs SMaT 2lon)

ablall obladll awsao §

JolS ied s 140 L) B
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5. sin 6f df

2
10. dx
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7. /{:r2 + 4)% dx

Jol uli> 1 85LewVI slacl




almaharat

PRIVATE SCHOOL

Compute various interlays using integration by substitution

gl JalSall s o pliseitly de gits Jigs MBS slaw)

(14,16,19-24) 489

ablall obladll awsao § 13

14. +a o

54 2x + x*

t+ 1
16. dt
/r2+2f,+4

Jol uli> 1 85LewVI slacl
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almaharat
PRIVATE SCHOOL Compute various interlays using integration by substitution
ablall oblaoll awsao § 13 o o Gyl it degie s GO ] (14,16,19-24) 89
4 2 JolS)) Zed o o> 140 G lall LB
19. | - — dx 20, [ —— dx :
x13(1 4 x2/3) xlt 4 x

Jol uli> 1 85LewVI slacl




almaharat

PRIVATE SCHOOL ' Compute various interlays using integration by substitution

i B iHh § 13 14,16,19-24 489
aplall Oblaall awsao agatlls oSl o pludiily de gita 153 COLES dlaw] ( J

oS! ded w140 (el B

SiN 4/ X (1
21./ \/-dx 22. /de

2

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL Compute various interlays using integration by substitution
ablall oblaall awsao 13 ol o iy ghasst Aeyae R SO S (14,16,19-24) o

e ) = 4 . =1 3 r d— . = || ¥
23, / cos xe™" " dx 24, /- sec? ¥ T dx JolSd) apd v (1 40 G oled UJ
0 Q

Jol uli> 1 85LewVI slacl




o I m Q h o rot Compute integrals using completing a square before integrating

14 11-13 89
PRIVATE SCHOOL ugaill shikiuoly mspall JUS; laiustl s degite Jlgs ST o] —

ablall obladll awsao §

11./ 1 dx 12. x+1
V3= 2x — 2 V3= 2x — 2

4 JolSal) pd o 1—40 o led) o

Jol uli> 1 85LewVI slacl




o I m Q h o rot Compute integrals using completing a square before integrating

14 11-13 89
PRIVATE SCHOOL ugaill shikiuoly mspall JUS; laiustl s degite Jlgs ST o] —

ablall obladll awsao §

-

13. /; dx JolS) ed a > 1—40 oLl B
S5+ 2x+2x* -

Jol uli> 1 85LewVI slacl




almaharat

PRIVATE SCHOOL : Use integration by parts to compute definite and indefinite integrals
15 (1-6,23,24) 496

aplall Oblaall awsao el Lot Ao pliskialy 46 gk Bigons b3 Bgdons CAED Slow]
o MolSi) de® o 128 L) LB
1. /.rcnsxdx 2, / xsindy dy

Jol uli> 1 85LewVI slacl




almaharat |
PRIVATE SCHOOL Use integration by parts to compute definite and indefinite integrals
- - - y 15 (1-8,23,24) 496
aplall Oblaall awsao elydlly Lol Ao pliciiaals A5 ke Baghone aEg Bagons MBS Slau]
o e lS) dgd N 1—28 Oy lesd) "3
3. /xﬁl‘dx 4, /xlnxdx _ - _ - =
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almaharat

PRIVATE SCHOOL : Use integration by parts to compute definite and indefinite integrals
15 (1-6,23,24) 496

aplall Oblaall awsao el Lot Ao pliskialy 46 gk Bigons b3 Bgdons CAED Slow]
Inx
5. /:sr2 In x dx 6. /—d::—:
X

e Sl ded® a1 —28 Ll B

*

Jol uli> 1 85LewVI slacl




almaharat |

PRIVATE SCHOOL Use integration by parts to compute definite and indefinite integrals
- - - y 15 (1-8,23,24) 496
aplall Oblaall awsao elydlly Lol Ao pliciiaals A5 ke Baghone aEg Bagons MBS Slau]

A MolSal) e u o 128 Ll B

+ 10 2
23. / In 2x dx 24, / xInxdx
1 1

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL

dbL:Jl CJ'JIQ.Q.” awsao f . Use integration by parts to compute definite and indefinite integrals (19-22) 296
el Lo Ayl luiuls de gite Bagdous pbs Bagutous CibLeBS Slau]

° . e MalSa)) Aed® o 1—28 L) B
19. / xsin 2x dx 20. / 2xcosxdy '
L [

-1 -1

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL

dbL:Jl CJ'JIQ.Q.” awsao f . Use integration by parts to compute definite and indefinite integrals (19-22) 296
el Lo Ayl luiuls de gite Bagdous pbs Bagutous CibLeBS Slau]

1 1
21. A x? cos mx dx 22, /D- Le¥dy o dalS) e o> 1—28 o le)) L3

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL Integrate functions of the form sin*n(x) cos*mix) as) s07
dbL'hJ' Olllmn.” dea.o ) 17 sin®m{x) [nsﬂn{:]i.i:un.adb: Qﬂ.ﬂﬁ.‘ll:p_n]
. 4 . e LS Ag® o o 1—44 =1 |
1. /cﬂsxsnﬂx dx 2. /cnijsqudx =k * ' oaoted)
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almaharat
PRIVATE SCHOOL Integrate functions of the form sin*n(x) cos*mix)
.l it = . Y 17 1-8 507
QbLa." Ul)lm.n.” Q2o Sil'l"l'l'hl!] [nsﬂn{:]i.i:un.adb: Qﬂ.ﬂﬁ.‘ll:p_n] t l
a/d w3 Sl Aed o> 1—44 [l B
3. / cos 2x sin” 2x dx 4. / cos? 3xsin” 3x dx .
0 x4

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL Integrate functions of the form sin*n(x) cos*mix) as) s07
dbL'hJ' Olllmn.” dea.o ) 17 sin®m{x) [nsﬂn{:]i.i:un.adb: Qﬂ.ﬂﬁ.‘ll:p_n]
"f2 0 I .
5. / cos” xsinx dx 6. / cos’ xsinx dx o alSn)) Apd o 1—44 L) o2
0 -2

Jol uli> 1 85LewVI slacl




almaharat |

PRIVATE SCHOOL Integrate functions of the form sin®n{x) cos*m(x)
- _ - - y 17 1-8 507
aplall Oblaall awsao sinAmi{x) cosAn{x) ks Jig i8S slaul a8

7. / cos” (x + 1) dx

- >

o Mo lSo) g Jd—44 o)
8. /31114{ —3)dx Ao e ooled) 2

Jol uli> 1 85LewVI slacl




almaharat |
PRIVATE SCHOOL 8 Integrate functions of the form sec*m(x) tan*n(x) 0.16) o7
ablall oblaall awsao § sechm(x) tantn(x) dksas Jlgs LS slaw|
9. / tan x sec” x dx 10. / cot x cse? x dx el ded o> 1—44 (p L) B

Jol uli> 1 85LewVI slacl




almaharat

PRIVATE SCHOOL / - Integrate functions of the form sec®m(x) tan®n(x) (9-16) 507

ablall obladll awsao § sechm(x) tanAn(x) diwas Jlg COLES 2wl

11. /xtan?’ (x> + 1) sec (x> +1) dx

o MalSal) ded o> 1—44 o lad) LB

12. /Ian 2%+ 1) sec’ (2x+1) dx

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL 8 Integrate functions of the form sec*m(x) tan*n(x) 0.16) o7
ablall obladll awsao § sechm(x) tanAn(x) diwas Jlg COLES 2wl

o MalSal) ded o> 1—44 o lad) LB

J
13. /cnf"rcscd‘xdx 14, / cot® v csc x dx

Jol uli> 1 85LewVI slacl




almaharat

PRIVATE SCHOOL / - Integrate functions of the form sec®m(x) tan®n(x) (9-16) 507

ablall obladll awsao § sechm(x) tanAn(x) diwas Jlg COLES 2wl

x4 =74
15. / tan? x sec? x dx 16. / tan® x sec” x dx
0 S

NOLTMLET] [ PV RS, B S Pt g

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL 1 Integrate trigonometric functions using the substitution x=a sin(y) (21-26) 507
ablall oblaall awsao § ¥=a sinfy] i) phikiaedy Aedkie Jlg 58S slaw]
21. /—1 dx 22, /; dx RESTWECT/ 0t BRSPS B ¥ QRO
124/9 — x2 x2y/16 — x2 “ . ’ )
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almaharat
PRIVATE SCHOOL Integrate trigpnometric functions using the substitution x=a sin(y)
. 19 - (21-26) 507
ablall obladl awsao ¥=a sinfy] i) phikiaedy Aedkie Jlg 58S slaw]
23 / S 24 / LN
) Vie—n N o MalS) Aed a > 144 Gyl B

Jol uli> 1 85LewVI slacl




almaharat
PRIVATE SCHOOL Integrate trigonometric functions using the substitution x=a sin(y)
y 19 - (21-26) 507
ablall oblaall awsao ¥=a sinfy] i) phikiaedy Aedkie Jlg 58S slaw]
2 1 - .
25. f Vd =2 dx 26. f L dx Sl ded o 144 L) (2
0 0 y4=x7

Jol uli> 1 85LewVI slacl




o I m Q h o ro t 2 Integrate trigonometric functions using the substitution x=a tan(y) @341) 507
PRIVATE SCHOOL x=a tan(y) Josdl phidels Lk Jlso keSS slaw]

ablall obladll awsao §

33. / L S— 34, /x31.f8 + x2 dx o delial) 2e9 r =44 Gl 2

V9 + x?

Jol uli> 1 85LewVI slacl




o I m Q h o ro t 2 Integrate trigonometric functions u‘sing the substitution x=a tan(y) @341) 507
PRIVATE SCHOOL x=a tan(y) Josdl phidels Lk Jlso keSS slaw]

ablall obladll awsao §

35. /*\.;"I16+:c2 dx

1 s MalSa) A o 1—44 L)) h__,_q
36. / dx

4+22

Jol uli> 1 85LewVI slacl




o I m Q h o ro t 2 Integrate trigonometric functions using the substitution x=a tan(y) @341) 507
PRIVATE SCHOOL x=a tan(y) Josdl phidels Lk Jlso keSS slaw]

ablall obladll awsao §

: '
37, / Vit +8dy 38, / ¥y +9dy
| |

o SlalSa)) dgd s 1—44 o Ladl 8

Jol uli> 1 85LewVI slacl




o I m Q h o ro t 2 Integrate trigonometric functions using the substitution x=a tan(y) @341) 507
PRIVATE SCHOOL x=a tan(y) Josdl phidels Lk Jlso keSS slaw]

ablall obladll awsao §

o SlalSa)) dgd s 1—44 o Ladl 8

39./ L2 W 4:1./ +1
V1+x2 V4 +x?

Jol uli> 1 85LewVI slacl




o I m Q h o ro t 2 Integrate trigonometric functions using the substitution x=a tan(y) @341) 507
PRIVATE SCHOOL x=a tan(y) Josdl phidels Lk Jlso keSS slaw]

ablall obladll awsao §

41, / K
\V 2+ 4y

o SlalSa)) dgd s 1—44 o Ladl 8

Jol uli> 1 85LewVI slacl




o IP';T‘)ATQE t‘C?OSLO t I ” Integrate trigonometric functions using the substitution x=a sec(y) @7:32) s07

- P - - =, Ll sl ddlie Jigs el Sleu
ablall obladll awsao § x=a sacly) Jelsih p p dettts Jlys SOLES o

' Mol ied > 1—44 o, lad)
27./ L 28, /x-"vxz-ldx = et ; seobell o

Va2 =9

Jol uli> 1 85LewVI slacl




o I m Q h o ro t I Integrate trigonometric functions using the substitution x=a sec(y)
PRIVATE SCHOOL 21 (27-32) 507

- P - - =, Ll sl ddlie Jigs el Sleu
ablall obladll awsao § x=a secly] i ¢ p dettts Jlys SOLES o

o SlalSa)) dgd s 1—44 o Ladl 8

Jol uli> 1 85LewVI slacl




o I m Q h o ro t I Integrate trigonometric functions using the substitution x=a sec(y)
PRIVATE SCHOOL 21 (27-32) 507

ablall oblaall awsao § =2 secly) et phiskicly 2800 g2 OIS s
: . e MalS) Aed s (1—44 ol 2

Va2 = 24
31. /de 32. / YT ix

X

Jol uli> 1 85LewVI slacl




O I m Q h Q rat 4 Integrate rational functions using partial fractions in different cases
22 1-12 516
PRIVATE SCHOOL S Y § Ayl 2SN iy oy o iy AR o] (1-12)

ablall obladll awsao §

Uladlg el jeas)) ELSaS o> 1—20 L) B
O gdead) asasuwld plie CAS chad oS 13) . ado )

5 5x — 2 Sl
X o= G-
1. A2 9, X<

=1 -4
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O I m Q h Q rat 4 Integrate rational functions using partial fractions in different cases
22 1-12 516
PRIVATE SCHOOL S Y § Ayl 2SN iy oy o iy AR o] (1-12)

ablall obladll awsao §

g 6x s 3x O gdead) asasuwld plie CAS chad oS 13) . ado )
T al=x=2 T a2=-3x-4 o)

Jol uli> 1 85LewVI slacl




O I m Q h Q rat 4 Integrate rational functions using partial fractions in different cases
PRIVATE SCHOOL 2 (1-12) 516

daliss OYl= 4 Adidl | iyl plidials A J1go LSS Sl
&blall Gblaall &wss il DT =
Uladlg el jeas)) ELSaS o> 1—20 L) B
—x+5 3x+8

Y sl
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O I m Q h Q rat 4 Integrate rational functions using partial fractions in different cases
22 1-12 516
PRIVATE SCHOOL S Y § Ayl 2SN iy oy o iy AR o] (1-12)

Uladlg el jeas)) ELSaS o> 1—20 L) B
O gdead) asasuwld plie CAS chad oS 13) . ado )

ablall obladll awsao §
5x — 23 3x +5 ells

byt =1lx =7 Ty —4x-—1

Jol uli> 1 85LewVI slacl




O I m Q h Q rat 4 Integrate rational functions using partial fractions in different cases
PRIVATE SCHOOL 2 (1-12) 516

) ! . ; il Sl § il gl iyl hiials S J1g eSS Slou]
ablall obladl awsao

g _ x-—1 10, 4x-5 O i) aeasniwld (zlie CAS chsd (LS 13) . adw !
¥+ 4x? + 4x x? =3x7 Lyl

Jol uli> 1 85LewVI slacl




O I m Q h Q rat 4 Integrate rational functions using partial fractions in different cases
PRIVATE SCHOOL 2 (1-12) 516

) ! . ; il Sl § il gl iyl hiials S J1g eSS Slou]
ablall obladl awsao

11. —— 12. O Gaeid) aodduiwld (plie CAS clhiud olS 13) LadoY)
¥4y ¥4 dx byl

Jol uli> 1 85LewVI slacl




almaharat | . o . ,
PRIVATE SCHOOL

- . - - A
aplall Oblaoll awsao 23 Learn differential equations of the form y'=ky and their general solution (1-8) 533
pladl Lglomg y'=ky AaLaslin)l Aslasll g agds Lo padll

Ly =4yy0) =2 2. y' =3y, y(0) =-2

slasgd! Glsland) Walael Mo o 1—8 o ledl 8
3. ¥ ==3yy0)=5 4. y'==2y,y(0) = -6 cad] i) (pla X do pld) Ghas
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almaharat | . o . ,
PRIVATE SCHOOL

- . - - A
aplall Oblaoll awsao 23 Learn differential equations of the form y'=ky and their general solution (1-8) 533
pladl Lglomg y'=ky AaLaslin)l Aslasll g agds Lo padll

slasgd! Glsland) Walael Mo o 1—8 o ledl 8
5. y'=2yy() =2 6. y' = -y y(1)=2 cad) Sl Ao ¥ do i) s

7.y =y-50,4(0)=70 8.y =—-0.1y —10,y(0) = 80

Jol uli> 1 85LewVI slacl




almaharat

PRIVATE SCHOOL Solve problems involving differential equations of the form y'=ky satisfying an indicated initial condition (28-30) 534
ablall oblaall awsao § 24 . . ——
s Ll U 2 3oed ' =Ky Aablialdl C¥atas e Oliadad Jo (31,32) 535

S pd) Aol pel) Gaats 32 J) 29 e casled)

:as¥) S ) sl ) glgl pa aslg ale aay leiz¥) a3
B eieas lag Lgd L
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almaharat

PRIVATE SCHOOL Solve problems involving differential equations of the form y'=ky satisfying an indicated initial condition (28-30) 534
ablall oblaall awsao § 24 . . ——
s Ll U 2 3oed ' =Ky Aablialdl C¥atas e Oliadad Jo (31,32) 535

sotisly 1990 ale 3 AED 10,000 glea A asiid) oiiul .30
Jise 15 1318 (@) 2000 sle 3 AED 20,000 glo B jasiid)
5302ie 28,0 dsule) 12% Geasiid) US) Egawl] dsul,ol)

asul,e Jise g 535 (b) 92010 3 o)l l¥) o3 Los
bty Crs Bgad) Aol ol Jise 33 (©) 4% g
aliy) B gascid) jlizw) pe dapall A jasiid) Lzl
{2000 ale 3 AED 20,000 cllis; of A pasiid) e 25

Jol uli> 1 85LewVI slacl




almaharat

PRIVATE SCHOOL Solve problems involving differential equations of the form y'=ky satisfying an indicated initial condition (28-30) 534

" - " S y 24
DEREY BANREN D g i o 3 y =y ekl Cotas e Gl 3132) 535

ALl 3,50 aylezll Bl o Gegeme ualied) ol o220 31
saad) 7018 1995 ale 35 AED 34 gl 1985 ale 3
s asg al L s (a) LAED 9800 degemall iyl ' LY
alamiu) dalas oo linu¥) i le aSlall anlh dgie
ane (b) (1985 by =0 cus) aw f gold) sie dcgesd)
92005 3 degemell g gl ga L Jia ssla)) Juse
Joeied) l8lay o degemme Ll calgad) 1ia g ,2al (0)
oin o 7ol 0l 1995 3 LAED 22 cl$s 1985 ale 2
)l sa Lo Jia ol Jass alasaul LAED 32 dcgomnsl!
€2005 3 icgemmell aslsl)
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almaharat

PRIVATE SCHOOL Solve problems involving differential equations of the form y'=ky satisfying an indicated initial condition (28-30) 534

" - " S y 24
DEREY BANREN D g i o 3 y =y ekl Cotas e Gl 3132) 535

Bgte iy il AED 40,000 Jeo¥) asi 203 1 a0 e 32
.inw 20 (b) Ay tlgan 10 (a) ams aied oo . 10% auls
AED 40,000 aze® 115 cidl Joua¥) asly punll sin o ol

sl paslall alascul Lile 20 JMs ded M gy

Jol uli> 1 85LewVI slacl




Find the general solution of separable differential equations of first order

_ 25 (5-16) 544
almaharat | 5 5 o S e st g5

ablall obladll awsao §

cJeaal) AL adoslad) dalag) 16 J1 5 e Guyled) 2
(Sal 13) Gy s Hiaay cpladl Joud) o

5. 4 = (" + 1)y 6. v =2x(y—1)
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a I ma h a rot = Find the general solution of separable differential equations of first order (5-16) cas
PRIVATE SCHOOL el GBS g1 Ayl e Al ol ialnal plall ol lons)
ablall blaoll awsao §
, s , , haall B Alsled) Aslag) 16 J) 5 e oyl S8
7y =y 8. ¥y =2(y"+1) (Sl 13) dom o ey cplal) o)) oo

Jol uli> 1 85LewVI slacl




I h Find the general solution of separable differential equations of first order
almaharat /| = — (516) 544
ablall Oblaall awsao §
9. ' = 6 10, o = 3% )
TS YT il A0 Al lad) Wslael) 16 (J] 5 e ooledl) 8
Lol 13! Ao D A .!aLa.ll B | R —
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Find the general solution of separable differential equations of first order

_ 25 (5-16) 544
almaharat | 5 5 o S e st g5

ablall obladll awsao §
el L0 bl Uslag) (16 J1 5 e oasled! 8

1. y' = 2'5_,_”—1' 12, y' = 1 uj.qi 13) Ao pos Ay .!aLiJl i E2N | R W—
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Find the general solution of separable differential equations of first order

almaharat /| =
PRIVATE SCHOOL

Jraill A5 | gl dompall s daliblil alaad pladl ol Slow)

(5-16) 544

ablall obladll awsao §

13. ' = 222
sin i

-

Jol uli> 1 85LewVI slacl

4. y' = ¥ cos’ y

Lg !

cJeaal) AL adoslad) dalag) 16 J1 5 e Guyled) 2
(Sal 13) Gy s Hiaay cpladl Joud) o



o I m Q h o rot Find the general solution of separable differential equations of first order (5-16) saa
_ 25 — — —— -
PRIVATE SCHOOL w hocal] ALE g1 Ayl s Ayl o¥slaal plall Joudl 2w
ablall Oblaall awsao §
’ Xy y 2 el ZLL alasled) Aalagd! (16 J1 5 e coked) B
15, y' = —— 16. vy’ = ——— R e ol
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